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A baker is creating a birthday cake. The base of the cake is the 
region R in the first quadrant under the graph of ( )y f x=  for 

0 30,x≤ ≤  where ( ) ( )20sin .30
xf x π=  Both x and y are 

measured in centimeters. The region R is shown in the figure 

above. The derivative of f is ( ) ( )2 cos .3 30
xf x π π′ =  

 

(a)  The region R is cut out of a 30-centimeter-by-20-
centimeter rectangular sheet of cardboard, and the 
remaining cardboard is discarded. Find the area of the 
discarded cardboard. 

(b)  The cake is a solid with base R. Cross sections of the cake perpendicular to the x-axis are 
semicircles. If the baker uses 0.05 gram of unsweetened chocolate for each cubic centimeter of cake, 
how many grams of unsweetened chocolate will be in the cake? 

(c)  Find the perimeter of the base of the cake. 

(a) 
 

Area ( )
30 2
0

30 20 218.028 cmf x dx= ⋅ − =∫  3 : { 2 : integral
 1 : answer

 

 
 
 
 
 
 
 

(b) Volume ( )30 2
3

0
2356.194 cm2 2

f x dxπ ⎛ ⎞= =⎜ ⎟
⎝ ⎠

⌠
⎮
⌡

 

Therefore, the baker needs 2356.194 0.05 117.809× =  or 117.810 grams 
of chocolate. 
 
 
 
 
 
 
 

 

3 : { 2 : integral
 1 : answer

 

 

(c) 
 

Perimeter ( )( )
30 2
0

30 1 81.803f x dx′= + + =∫  or 81.804 cm 3 : { 2 : integral
 1 : answer
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A storm washed away sand from a beach, causing the edge of the water to get closer to a nearby road. The 
rate at which the distance between the road and the edge of the water was changing during the storm is 
modeled by ( ) cos 3f t t t= + −  meters per hour, t hours after the storm began. The edge of the water 
was 35 meters from the road when the storm began, and the storm lasted 5 hours. The derivative of ( )f t  

is ( ) 1 sin .
2

f t t
t

′ = −  

(a) What was the distance between the road and the edge of the water at the end of the storm? 
(b) Using correct units, interpret the value ( )4 1.007f ′ =  in terms of the distance between the road and 

the edge of the water. 
(c) At what time during the 5 hours of the storm was the distance between the road and the edge of the 

water decreasing most rapidly? Justify your answer. 
(d) After the storm, a machine pumped sand back onto the beach so that the distance between the road 

and the edge of the water was growing at a rate of ( )g p  meters per day, where p is the number of 
days since pumping began. Write an equation involving an integral expression whose solution would 
give the number of days that sand must be pumped to restore the original distance between the road 
and the edge of the water. 

(a) 
 

( )
5

0
35 26.494f t dt+ =∫  or 26.495 meters 2 : { 1 : integral

1 : answer
 

 
(b) 

 

Four hours after the storm began, the rate of change of 
the distance between the road and the edge of the water  
is increasing at a rate of 21.007 meters hours .  
 

2 : ( )1 : interpretation of 4
 1 : units

f ′⎧
⎨
⎩

 

 

(c) ( ) 0f t′ =  when 0.66187t =  and 2.84038t =  
The minimum of f for 0 5t≤ ≤  may occur at 0, 
0.66187, 2.84038, or 5.   
 

( )0 2f = −   
( )0.66187 1.39760f = −   
( )2.84038 2.26963f = −  
( )5 0.48027f = −  

 
The distance between the road and the edge of the 
water was decreasing most rapidly at time 2.840t =  
hours after the storm began. 
 

3 : 
( )1 : considers 0

 1 : answer
 1 : justification

f t′ =⎧
⎪
⎨
⎪⎩

 

 

(d) ( ) ( )
5

0 0

x
f t dt g p dp− =∫ ∫  

 

2 : { 1 : integral of 
 1 : answer

g
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A continuous function f is defined on the closed interval 4 6.x− ≤ ≤  The graph of f consists of a line 
segment and a curve that is tangent to the x-axis at 3,x =  as shown in the figure above. On the interval 
0 6,x< <  the function f is twice differentiable, with ( ) 0.f x′′ >  

(a) Is f differentiable at 0 ?x =  Use the definition of the derivative with one-sided limits to justify your 
answer. 

(b) For how many values of a, 4 6,a− ≤ <  is the average rate of change of f on the interval [ ], 6a  
equal to 0 ? Give a reason for your answer. 

(c) Is there a value of a, 4 6,a− ≤ <  for which the Mean Value Theorem, applied to the interval [ ], 6 ,a  

guarantees a value c, 6,a c< <  at which ( ) 1 ?3f c′ =  Justify your answer. 

(d) The function g is defined by ( ) ( )
0

x
g x f t dt= ∫  for 4 6.x− ≤ ≤  On what intervals contained in 

[ ]4, 6−  is the graph of g concave up? Explain your reasoning. 

(a) ( ) ( )
0

0 2lim 3h

f h f
h−→

− =  

( ) ( )
0

0lim 0
h

f h f
h+→

− <  

Since the one-sided limits do not agree, f is not 
differentiable at 0.x =  

 

2 : { 1 : sets up difference quotient at 0
 1 : answer with justification

x =
 

 
 
 

(b) ( ) ( )6 06
f f a

a
− =−  when ( ) ( )6 .f a f=  There are 

two values of a for which this is true. 

 

2 : { 1 : expression for average rate of change
 1 : answer with reason

(c) Yes, 3.a =  The function f is differentiable on the 
interval 3 6x< <  and continuous on 3 6.x≤ ≤  

Also, ( ) ( )6 3 1 0 1 .6 3 6 3 3
f f− −= =− −  

By the Mean Value Theorem, there is a value c, 

3 6,c< <  such that ( ) 1 .3f c′ =  

2 : { 1 : answers “yes” and identifies 3
 1 : justification

a =
 

 
 
 
 

(d) ( ) ( ) ( ) ( ),g x f x g x f x′ ′′ ′= =  

( ) 0g x′′ >  when ( ) 0f x′ >   
This is true for 4 0x− < <  and 3 6.x< <  

3 : 
( ) ( )

( )
 1 : 
1 : considers 0

 1 : answer

g x f x
g x

′ =⎧
⎪ ′′ >⎨
⎪⎩
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The graph of the polar curve 1 2cosr θ= −  for 0 θ π≤ ≤  is 
shown above. Let S be the shaded region in the third quadrant 
bounded by the curve and the x-axis. 
 

(a)  Write an integral expression for the area of S. 

(b)  Write expressions for dx
dθ  and dy

dθ  in terms of .θ  

(c)  Write an equation in terms of x and y for the line tangent to 

the graph of the polar curve at the point where .2
πθ =  

Show the computations that lead to your answer. 

(a) ( )0 1;r = −  ( ) 0r θ =  when .3
πθ =  

Area of ( )
3 2

0
1 1 2cos2S d

π
θ θ= −∫  

 
 
 
 
 

 

2 : { 1 : limits and constant
 1 : integrand

 

 

(b) cosx r θ=  and siny r θ=  
 

2sindr
d θθ =  

 

cos sin 4sin cos sindx dr rd d θ θ θ θ θθ θ= − = −  
 

( )2sin cos 2sin 1 2cos cosdy dr rd d θ θ θ θ θθ θ= + = + −  

 
 
 
 
 

4 : 

1 : uses cos  and sin

 1 : 

 2 : answer

x r y r
dr
d

θ θ

θ

= =⎧
⎪
⎨
⎪
⎩

 

 

(c) When ,2
πθ =  we have 0, 1.x y= =  

2 2

2dy ddy
dx dx dπ πθ θ

θ
θ= =

= = −   

The tangent line is given by 1 2 .y x= −  
 

 

3 : 

 1 : values for  and 

 1 : expression for 

1 : tangent line equation

x y
dy
dx

⎧
⎪⎪
⎨
⎪
⎪⎩
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Let f be a twice-differentiable function defined on the interval 
1.2 3.2x− < <  with ( )1 2.f =  The graph of ,f ′  the derivative 

of f, is shown above. The graph of f ′  crosses the x-axis at 
1x = −  and 3x =  and has a horizontal tangent at 2.x =  Let g 

be the function given by ( ) ( ).f xg x e=  
 

(a)  Write an equation for the line tangent to the graph of g  
at 1.x =  

(b)  For 1.2 3.2,x− < <  find all values of x at which g has a 
local maximum. Justify your answer. 

(c)  The second derivative of g is ( ) ( ) ( )( ) ( )2 .f xg x e f x f x⎡ ⎤′′ ′ ′′= +⎣ ⎦  Is ( )1g′′ −  positive, negative, or 

zero? Justify your answer. 
(d)  Find the average rate of change of ,g′  the derivative of g, over the interval [ ]1, 3 . 

(a) ( ) ( )1 21 fg e e= =  

( ) ( ) ( ) ,f xg x e f x′ ′=  ( ) ( ) ( )1 21 1 4fg e f e′ ′= = −  

The tangent line is given by ( )2 24 1 .y e e x= − −  
 
 
 

 

3 : 
( )
( ) ( )

 1 : 
 1 : 1  and 1
1 : tangent line equation

g x
g g

′⎧
⎪ ′⎨
⎪⎩

 

 

(b) ( ) ( ) ( )f xg x e f x′ ′=  
( ) 0f xe >  for all x  

So, g′  changes from positive to negative only when f ′  
changes from positive to negative. This occurs at 1x = −  
only. Thus, g has a local maximum at 1.x = −  
 
 
 

 

2 : { 1 : answer
1 : justification

 

 

(c) ( ) ( ) ( )( ) ( )211 1 1fg e f f− ⎡ ⎤′′ ′ ′′− = − + −⎣ ⎦  

( )1 0fe − >  and ( )1 0f ′ − =  

Since f ′  is decreasing on a neighborhood of 1,−  
( )1 0.f ′′ − <  Therefore, ( )1 0.g′′ − <  

 
 
 

 

2 : { 1 : answer
1 : justification

 

 

(d) ( ) ( ) ( ) ( ) ( ) ( )3 1
23 1 3 1 23 1 2

f fg g e f e f e
′ ′ ′ ′− −= =−  

 

 

2 : { 1 : difference quotient
 1 : answer
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The function f is defined by the power series 

( ) ( ) ( ) ( ) ( )2

0
1 1 1 1 1n n

n
f x x x x x

=

∞
= + + + + + + + + = +∑  

for all real numbers x for which the series converges. 
(a) Find the interval of convergence of the power series for f. Justify your answer. 
(b) The power series above is the Taylor series for f about 1.x = −  Find the sum of the series for f. 

(c) Let g be the function defined by ( ) ( )
1

.
x

g x f t dt
−

= ∫  Find the value of ( )1
2g − , if it exists, or explain 

why ( )1
2g −  cannot be determined. 

(d) Let h be the function defined by ( ) ( )2 1 .h x f x= −  Find the first three nonzero terms and the general 

term of the Taylor series for h about 0,x =  and find the value of ( )1 .2h  

(a) The power series is geometric with ratio ( )1 .x +  

The series converges if and only if 1 1.x + <  
Therefore, the interval of convergence is 2 0.x− < <  
 
OR 
 

( )
( )

11lim 1 1
1

n

nn

x x
x

+

→∞
+ = + <
+

 when 2 0x− < <   

At 2,x = −  the series is ( )
0

1 ,n

n=

∞
−∑  which diverges since the 

terms do not converge to 0. At 0,x =  the series is 
0
1,

n=

∞
∑  

which similarly diverges. Therefore, the interval of 
convergence is 2 0.x− < <  

3 : 
1 : identifies as geometric

 1 : 1 1
1 : interval of convergence

x
⎧
⎪ + <⎨
⎪⎩

 

 
OR 
 
 

3 : 
1 : sets up limit of ratio
1 : radius of convergence
1 : interval of convergence

⎧
⎪
⎨
⎪⎩

 

 
 
 
 

 
 
 

(b) Since the series is geometric, 

( ) ( ) ( )0

1 11 1 1
n

n
f x x xx=

∞
= + = = −− +∑  for 2 0.x− < <  

1 : answer 

(c) ( )
1 1
2 2

11

1 1 ln ln 22
x

x
g dx xx

− =−

=−−
− = − = − =⌠

⌡  

 

2 : { 1 : antiderivative
 1 : value

 

 

(d) ( ) ( )2 2 4 21 1 nh x f x x x x= − = + + + + +  

( ) ( )1 3 4
2 4 3h f= − =  

 

3 : 

( )
1 : first three terms

 1 : general term
1 1 : value of 2h

⎧
⎪⎪
⎨
⎪
⎪⎩

 

 
 


	ap09_calculusbc_formb_cover.pdf
	AP® Calculus BC 
	2009 Scoring Guidelines




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


